26T 128148817 RERNEEXEDRSSES
OIREHRR
5 L8 &t
BIEEH 12112 13, 353 25, 465
BEEH 6, 888 1,256 14,144
WEER 56. 87% 54. 34% 55. 54%
SHR
ERLEREER 4, 651 4,539 9, 190
EREBRREEH 2,117 2,568 4,685
ERNTHEEREEH 118 149 267
ESNREEY 2 0 2
LEREIX REEHMHRER
OFEKER
12A148 21852245 IE7E BAEZZE 100. 0%
BHEE EHE A A Y Bz BEH w%E
i mH LT by o E 7,701 =
2 BIK . TWF L Tlos 1,012 -
3 BA 1583 FLbE VEHE 4,997 ®
&t 13,710 =
A BEHBE 13, 710.
Bl BOSDBUIYETEER 0.
0

B2 LWIIDEMEICLELEZVLD

C EnBEH 13,710 A+B1+B2
D #EMBEH 434

E BE&F 14,144 C+D

FI FRE (7F#H) 0

F2 71‘%"@.’5‘ (FiRY) 0

F3 a (Zofh) 0

G xm% BE 14,144 E+F1~F3

HREE

3. 07% v/Ex100 3tzpuisE A




